a(0 @) (raqd)

SICEWATL

TP n (PCA to beamline)

5 f 5

g i
o 107F I
102 1
107° E T T TR R T e
.910—4_. !....
5 4 -

o E :
0.5F -4 1

%3 2 3

TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__RECO

1072

.9105-3
I : :
05F-----4 r - 1 B R FER N N .
E : I : : 3
-3 -2 -1 0 1 2 3

o p/p.)

Ratio

I SO PN R B RSO RS
130 1 N
05F----- 4 l + ------------
N B B ) B R S

TP n (PCA to beamline)

z

oo a,) (cm)

Ratio

1072

1078

8 A 0

iy
TTTITrTTT

0.5f----- :

|
™

2 3
TP n (PCA to beamline)



	Contents
	Page 1


